©903> (HMbodgdymo Fomgmo g9@a)

933> (Hmbodgdgmo ygomgero gyGo)

@ommbols 3560

©IGOOSHOYE0 Gogrs
d9698@030 Ja0l godH oo

903> (HmboGgdgero @yhxo ByHo)

_1+8.200

_|+6.400
_[+6.100

| +5.500

©9635> (H™bodgdymo 30byg@o ggmho)

+2.800

T

T

+0.900

+0,000

’b
~
a
o

e 5,500 7

oy Bobowols Bobx@gdols 13gi305035300

* 2,000 * 0,800

1,900
0,
0,600

1,350+

7
7
e
ES

3133
a-1

6,000

2,400

@ommbols go®o

+-0,9007*

RQoboo o-

‘dgbodgbo:

gobowo dgo@gdml dowaa ba@olibmgsbo
Lowgdogom

ha)
(=1
N
- a e
% = |3
=l
(o]
S
o4
~
2
b5} c
s s | %
L & E| ¥ 2
=} Qo 8| &
5 A
3= 194 -
% : a
2o |g ] B
194 g
L o | e >
5 2 | =2
< L
2 =z | &
c ¢ égS(
D D g Ea
w D = |27
LR R Y
€ 3 |< [28]¢
€ A Z 22
mn 2 Jﬁ_ér
pe)
E
)
=
£
)
e
C'?nm
5| = |
s < | A
|2 | A | =
Q|2 ) g/
S22
= > | 5
< | £ &
g( %
c S| =
pe) )
2o 21 =
Q| 7 (O]
g | & AN
o | «Q >
= |=e
OIS c )
& s | g <
o |= s | 2
Nl < \.j:\é‘.C
W0 € =1 s [&)
2| E = 8 =
sl | 2= ]
S| 2|2 =
Ll |~
‘g\c;'-ﬁcg
k%5




